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Compare Number Sentences

Reasoning and Problem Solving

Alex is incorrect.

‘69 Any number less than 11 | She needs to use
would make this correct. | any number
Alex 74N<7+ greater than 11
Do you agree with Alex?
Explain why.
P Whitney has 16 sweets and Mo and Whitney
< eats 7 of them. have the same.

16 — 7 is equal to
Mo has 17 sweets and eats 8 of 17-8
them. =

Who has more sweets left?

Explain how you know.

Dexter is working out which symbol to
use to compare the number sentences.

!) 14-5() 14+5

The missing symbol
must be = because all
of the numbers are the
same.

Do you agree with Dexter?
Explain why.

Dexter is incorrect
because when you
take 5 away from
14 the answer will
be smaller than
when you add 5 to
14 so the correct
symbol should be
<
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Add by Making 10

Reasoning and Problem Solving

Teddy and Eva are adding together 7
and 8 using a number line.

Teddy shows it this way:

O)
VY

© 1 23456789101 121 115167 1190

Eva shows it this way:

©9)
= OYaEN

© 1 2 3 4 5 6 7 8 0 101 1212 115 682

Who is correct?
Explain your answer.

They are both
correct because
addition is
commutative and
the answer to both
calculations is 15

Teddy has started
with 7 and
partitioned the 8
into 3 and 5 to
make 10

Eva has started
with 8 and
partitioned the 7
into 2 and 5 to
make 10

Dexter uses ten frames to calculate eight

plus six. eeeee
Oo/e [ |
[o[e[®]0[@]

09 8+6=16

Do you agree?
Explain why.

Annie is calculating 8 + 6
Which of these methods is most helpful?

REtSHNGYe

o o

Dexter is wrong
because the
answer should be
14. He should have
filled the first ten
frame before
starting a second
one.

Partitioning the 6
into 4 and 2 is
helpful as 8 and 2
make 10

Partitioning the 8
into 4 and 4 is
helpful as 6 and 4
make 10
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Subtraction - Not Crossing 10

Reasoning and Problem Solving

Annie, Tommy and Alex are working out | Possible response: How many ways can you complete this 20-9=1
which calculation is represented below. Tommy is correct number sentence? 19-8=1
because first there Use the number line to help you. 18-7=1
were 17 cakes and 7-6="1
now there are still 16-5="1etc.
17 cakes so zero SRR
cakes were eaten.
""" ‘\ === ‘\
1 1
| Jp— ,l | JSp— ,'

Tommy )

(el
0—-17=17 ‘00
Alex

Can you work out who is correct?
Explain why.
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Subtraction - Crossing 10 (2)

Reasoning and Problem Solving

s A
A Max has 12 balloons.

5 of the balloons burst.
How many are left?

\

B Max has 12 balloons. h
5 of the balloons are red.

There rest are blue.
\_ How many blue balloons does Max have? }

C Maxhas 12 blue balloons and 5red |
balloons.
How many more blue balloons than red
\_ balloons does he have? )

Which method would you use to solve
each problem? J

see T T T T T TTT]
Red ¥'7—'
00000 e
oonue
®

Ask the children to
justify which
method they
would use and
why.

Possible answers:

A Take away

[o/o[@/0/0]
[olos/a/e

B Partitioning
OXO,
C Difference

Amir has 16 apples. Ron has none.
Amir gives Ron 9 apples.

Who has the most apples now?
Explain how you know.

Look at the following objects.

***t*t*%* ‘t*% ‘#

Teddy works out these calculations.

B—4=__
B—M=__
N—d=__

What question could he have asked each
time?

Ron because he
has 9 and Amir
only has 7 left.
16-9=7

15-4=1
(Teddy has 15
bears. He eats 4.
How many are
left?)
1B5—1=4Mare
yellow how many
are purple?)

1M1 —4=7(How
many more yellow
bears are there?)




